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(i) Living things change and grow (ii) Living things reproduce

The life cycle of a frog has 3 stages while that of a butterfly has 4

stages

Both life cycles start with the egg stage

Laying many eggs increase the chance of survival and development

into adult stage

Temperature of the surroundings 

As the temperature of the surroundings increases, the height of the 

plant increases 

20 degrees is the least suitable temperature for the growth of the 

plants, as the height of the plant at 20 degrees was the shortest. 

Stage Z: Pupa 

C 

The mosquito at stage Y eats a lot and molts several times 

By emptying the water collected in the plate, the adult mosquito will 

have no place to lay their eggs, so it will be harder for the mosquito 

to breed. 
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SECTION A 

SECTION B 

010) 

011) 

012) 

013) 

a) Substance P: Gaseous

Substance 0: Liquid

b) Matter in the gaseous state can be compressed but matter in liquid

state cannot be compressed

a) Water in the container would overflow. Air does not have a definite

volume, so balloon will expand and occupy a larger area hence

displacing the water and causing it to overflow.

b) Water has a definite volume and cannot be compressed, so the

water in the bottle cannot overflow into the water bowl as the water in

the bow is occupying space.

a) 200cm"3

b) The total volume of 4 smaller cubes and water will be 700cm"3. The

property of solids shown is solids have definite volume

c) 50ml

A B C D 

rubber ball 
a) Diagram 2 

b) 120g is the mass of the towels and the bag because the towels were

in the bag when Karen measured them.
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b) 

c) 
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c) 
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Q3 

I
·04)

I
Q5 

I
Q6 

Cr 
07

2 2 1 1 3 I
Q8 

I4 

The ice cream changed from solid state to liquid state 

09 

I2 

The ice cream gained heat from the surrounding air, causing it to 

melt and change state 

Ice cream in the plastic cup will melt slower than ice cream in 

diagram 1. Plastic is a poorer conductor of heat than metal, so ice 

cream in plastic cup will gain heat at a slower rate 

Y. The temperature of water in set-up B decreases faster as heat

from the hot water will flow to the surrounding air more quickly

The temperature of water in both set-ups gradually reached room

temperature after 2 hours.

The concrete tiles would crack on a very hot day if there were no

gaps. The tiles would gain heat from the sun and expand, but there

would be no space for the tiles to expand, causing them to crack

The sheet of paper only allows some light to pass through, thus 

reading became 150 units 

When 4 sheets of paper were placed together, no light could pass 

through. Hence adding any additional sheets will not make a 

difference 

She can move the torch nearer to position X 

Pg 3 


